	Buckingham Elementary		Total Amount Budgeted 01W0F				\$7,500.00		
Event #	Activities/Materials	Planned Date	Planned Use/connection to need	Itemized List of Proposed of Spending	Price Per	Quantity	O1W2F Proposed Spend Item	Proposed Event Total	Grand Total Proposed Spending
1	Annual Meeting & Back to School Night	September 14, 15, 16, 2021	At this virtual event families will learn all things Title I at BES in addition to grade level plans and expectations for the year. Teachers will Zoom with their grade levels to introduce curriculum, field trips, etc. This event takes place over 3 nights to accommodate families schedules and ensure families can attend all grade levels that apply to them. This supports the Comprehensive Needs Assessment in both areas of Academics.	Interpreter	\$20.00	6	\$120.00	\$120.00	\$120.00
	Virtual Event		1 reduction				\$0.00		
							\$0.00		
							\$0.00		
							\$0.00 \$0.00		
							\$0.00		
							\$0.00		
							\$0.00		
							\$0.00		
2		11/15- 19,2021	During American Education Week, families will learn about current grade level math standards from teachers. Families will also receive the corresponding Math Fact flasheards for their child to practice their facts at home. With unfnished learning due to CoVid, automaticity and fluency is an area where families will feel comfortable supporting their childfren). This supports our Comprehensive Needs Assessment in the area of Academics: Mathematics.	Flashcards Gr 1- Addition and Sub. Gr 2- Addition and Sub. Gr 3- Multiplication Gr 4- Mult. and Div.	8.99	207	\$1,860.93	\$2,210.93	\$2,330.93
	In-person event?			Step and Repeat Banner (Used for families to take photos together and future Student of the Month, etc. PFE events.)	350	1	\$350.00		
							\$0.00		
							\$0.00 \$0.00		
							\$0.00		
							\$0.00		
							\$0.00		
							\$0.00		
3	One School, One Book	Jan-22	One School, One Book is a month long book club. Every family (including faculty) in grades K-4 receives a copy of "The Littles" by John Peterson and a reading calendar. Parents are encouraged to read the book aloud to their child and complete one comprehension trivia question. The correct answer is reviewed on the announcements the following day, and one student with the correct answer from each grade level will be randomly selected to take a trip to our Book Vending Machine each day. This reflects our Comprehensive Needs Assessment in the area of Academic Achievement: Literacy with a spotlight on comprehension. This is one way we can reach out to parents and invite them to participate in their child's education from home. ClassDolo will be utilized to notify parents of all corresponding events.	Book Series	35	500	\$0.00 \$1,500.00	\$1,675.00	\$4,005.93
	,								
							\$0.00 \$0.00		
							\$0.00		
							\$0.00		
							\$0.00		
							\$0.00		
							\$0.00		
4	January PAC Meeting	Jan-22	The Parent Advisory Committee will gather to review Title 1 Plans and policies, review the Parent Engagement (PE) budget, and design PE activities. Breakfast will be served for a morning of work. This supports our Comprehensive Needs Assessment in the area of Academics.	Breakfast	5	20	\$0.00 \$100.00	\$100.00	\$4,105.93
	In-person event						\$0.00		
	i						\$0.00		

							\$0.00		
							\$0.00		
							\$0.00		
							\$0.00		
							\$0.00		
							\$0.00		
							\$0.00		
5	Science Night	Feb-22	Selected families will be invited to participate		15	30	\$450.00	\$450.00	\$4,555.93
			in a Science Night where they will learn about Next Generation Science Standards about weather and then create their own home weather lab to track temperature, rain, and wind. This aligns to the Comprehensive Needs Assessment in the area of Academics: Mathematics. Science Night was also requested by families at the July 2021 PAC	Station Kits					
	In-Person and Asynchronous Event		Meeting.				\$0.00		
	choice						\$0.00		
							\$0.00		
							\$0.00		
							\$0.00		
							\$0.00		
		1					\$0.00		
							\$0.00		
		-					\$0.00		
	Annual Meeting & Math Bingo	Mar-22	Families will learn about all things Title I at BES at the beginning of this event. Then families will participate in a Peardeck lesson that walks them through grade level content standards. Afterward, families will participate in a grade level aligned Math Bingo game. This event aligns to our Comprehensive Needs Assessment in the area of Academies: Mathematics.	Fruit Snacks Game Markers (110 Pack)	24.99	1	\$24.99	\$456.41	\$5,012.34
	Virtual Event			Bingo Games	10	30	\$300.00		
				Kraft Take Home Bags (24)	12.99	8	\$103.92		
				Avery labels	27.5	1	\$27.50		
				Trefy Moons	27.0	•	\$0.00		
							\$0.00		
							\$0.00		
							\$0.00		
							\$0.00		
7							\$0.00		
7	July PAC Meeting	Jun-22	The Parent Advisory Committee will gather to review Title 1 Plans and policies, review the Parent Engagement (PE) budget, and design PE activities. Breakfast will be served for a morning of work. This supports our Comprehensive Needs Assessment in the area of Academies.	Breakfast	5	20	\$100.00	\$100.00	\$5,112.34
7		Jun-22	to review Title 1 Plans and policies, review the Parent Engagement (PE) budget, and design PE activities. Breakfast will be served for a morning of work. This supports our Comprehensive Needs Assessment in the area	Breakfast	5	20		\$100.00	\$5,112.34
7	July PAC Meeting In-person event	Jun-22	to review Title 1 Plans and policies, review the Parent Engagement (PE) budget, and design PE activities. Breakfast will be served for a morning of work. This supports our Comprehensive Needs Assessment in the area	Breakfast	5	20	\$0.00	\$100.00	\$5,112.34
7		Jun-22	to review Title 1 Plans and policies, review the Parent Engagement (PE) budget, and design PE activities. Breakfast will be served for a morning of work. This supports our Comprehensive Needs Assessment in the area	Breakfast	5	20	\$0.00 \$0.00	\$100.00	\$5,112.34
7		Jun-22	to review Title 1 Plans and policies, review the Parent Engagement (PE) budget, and design PE activities. Breakfast will be served for a morning of work. This supports our Comprehensive Needs Assessment in the area	Breakfast	5	20	\$0.00 \$0.00 \$0.00	\$100.00	\$5,112.34
7		Jun-22	to review Title 1 Plans and policies, review the Parent Engagement (PE) budget, and design PE activities. Breakfast will be served for a morning of work. This supports our Comprehensive Needs Assessment in the area	Breakfast	5	20	\$0.00 \$0.00 \$0.00 \$0.00	\$100.00	\$5,112.34
7		Jun-22	to review Title 1 Plans and policies, review the Parent Engagement (PE) budget, and design PE activities. Breakfast will be served for a morning of work. This supports our Comprehensive Needs Assessment in the area	Breakfast	5	20	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$100.00	\$5,112.34
7		Jun-22	to review Title 1 Plans and policies, review the Parent Engagement (PE) budget, and design PE activities. Breakfast will be served for a morning of work. This supports our Comprehensive Needs Assessment in the area	Breakfast	5	20	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$100.00	\$5,112.34
7		Jun-22	to review Title 1 Plans and policies, review the Parent Engagement (PE) budget, and design PE activities. Breakfast will be served for a morning of work. This supports our Comprehensive Needs Assessment in the area	Breakfast	5	20	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$100.00	\$5,112.34
7		Jun-22	to review Title 1 Plans and policies, review the Parent Engagement (PE) budget, and design PE activities. Breakfast will be served for a morning of work. This supports our Comprehensive Needs Assessment in the area	Breakfast	5	20	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$100.00	\$5,112.34
		Jun-22 September 2022-2023	to review Title I Plans and policies, review the Parent Engagement (PE) budget, and design PE activities. Breakfast will be served for a morning of work. This supports our Comprehensive Needs Assessment in the area of Academics. Student Planners/Agendas are one of the daily communication tools used by teachers to communicate with parents. Assignments,	Breakfast Agendas/Planners	2.83	400	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$1,132.00	
	In-person event	September	to review Title I Plans and policies, review the Parent Engagement (PE) budget, and design PE activities. Breakfast will be served for a morning of work. This supports our Comprehensive Needs Assessment in the area of Academics. Student Planners/Agendas are one of the daily communication tools used by teachers		2.83		\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$5,112.34
	In-person event	September	to review Title I Plans and policies, review the Parent Engagement (PE) budget, and design PE activities. Breakfast will be served for a morning of work. This supports our Comprehensive Needs Assessment in the area of Academics. Student Planners/Agendas are one of the daily communication tools used by teachers to communicate with parents. Assignments, events, and notes can easily travel to and from home in a familiar mode. The Reading Log for Home Reading will also be included within the Agenda. This supports the Comprehensive Needs Assessment in the area		2.83		\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		
	In-person event Agendas	September	to review Title I Plans and policies, review the Parent Engagement (PE) budget, and design PE activities. Breakfast will be served for a morning of work. This supports our Comprehensive Needs Assessment in the area of Academics. Student Planners/Agendas are one of the daily communication tools used by teachers to communicate with parents. Assignments, events, and notes can easily travel to and from home in a familiar mode. The Reading Log for Home Reading will also be included within the Agenda. This supports the Comprehensive Needs Assessment in the area		2.83		\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$1,132.00		
	In-person event Agendas	September	to review Title I Plans and policies, review the Parent Engagement (PE) budget, and design PE activities. Breakfast will be served for a morning of work. This supports our Comprehensive Needs Assessment in the area of Academics. Student Planners/Agendas are one of the daily communication tools used by teachers to communicate with parents. Assignments, events, and notes can easily travel to and from home in a familiar mode. The Reading Log for Home Reading will also be included within the Agenda. This supports the Comprehensive Needs Assessment in the area		2.83		\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$1,132.00		
	In-person event Agendas	September	to review Title I Plans and policies, review the Parent Engagement (PE) budget, and design PE activities. Breakfast will be served for a morning of work. This supports our Comprehensive Needs Assessment in the area of Academics. Student Planners/Agendas are one of the daily communication tools used by teachers to communicate with parents. Assignments, events, and notes can easily travel to and from home in a familiar mode. The Reading Log for Home Reading will also be included within the Agenda. This supports the Comprehensive Needs Assessment in the area		2.83		\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$1,132.00		
	In-person event Agendas	September	to review Title I Plans and policies, review the Parent Engagement (PE) budget, and design PE activities. Breakfast will be served for a morning of work. This supports our Comprehensive Needs Assessment in the area of Academics. Student Planners/Agendas are one of the daily communication tools used by teachers to communicate with parents. Assignments, events, and notes can easily travel to and from home in a familiar mode. The Reading Log for Home Reading will also be included within the Agenda. This supports the Comprehensive Needs Assessment in the area		2.83		\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$1,132.00 \$0.00 \$0.00 \$1,000 \$0.00 \$		
	In-person event Agendas	September	to review Title I Plans and policies, review the Parent Engagement (PE) budget, and design PE activities. Breakfast will be served for a morning of work. This supports our Comprehensive Needs Assessment in the area of Academics. Student Planners/Agendas are one of the daily communication tools used by teachers to communicate with parents. Assignments, events, and notes can easily travel to and from home in a familiar mode. The Reading Log for Home Reading will also be included within the Agenda. This supports the Comprehensive Needs Assessment in the area		2.83		\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$1,132.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		
	In-person event Agendas	September	to review Title I Plans and policies, review the Parent Engagement (PE) budget, and design PE activities. Breakfast will be served for a morning of work. This supports our Comprehensive Needs Assessment in the area of Academics. Student Planners/Agendas are one of the daily communication tools used by teachers to communicate with parents. Assignments, events, and notes can easily travel to and from home in a familiar mode. The Reading Log for Home Reading will also be included within the Agenda. This supports the Comprehensive Needs Assessment in the area		2.83		\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$1,132.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		
	In-person event Agendas	September	to review Title I Plans and policies, review the Parent Engagement (PE) budget, and design PE activities. Breakfast will be served for a morning of work. This supports our Comprehensive Needs Assessment in the area of Academics. Student Planners/Agendas are one of the daily communication tools used by teachers to communicate with parents. Assignments, events, and notes can easily travel to and from home in a familiar mode. The Reading Log for Home Reading will also be included within the Agenda. This supports the Comprehensive Needs Assessment in the area		2.83		\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$1,132.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		
	In-person event Agendas	September	to review Title I Plans and policies, review the Parent Engagement (PE) budget, and design PE activities. Breakfast will be served for a morning of work. This supports our Comprehensive Needs Assessment in the area of Academics. Student Planners/Agendas are one of the daily communication tools used by teachers to communicate with parents. Assignments, events, and notes can easily travel to and from home in a familiar mode. The Reading Log for Home Reading will also be included within the Agenda. This supports the Comprehensive Needs Assessment in the area		2.83		\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$1,132.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		

			T			1			
	Coach Crate		Families signed up in Spring of 2021 to be a	Packaging (September and	35.99	2	\$71.98	\$1,155.48	\$7,399.82
of .	Materials	November	part of a Buckingham YOUniversity Book	November) Medium					
chronolo gical		2021	Club series. Families will meet virtually and in-person to discuss chapters of "How to	Shipping Boxes (25)					
order but			Raise a Reader," led by our Literacy						
did not			Instructional Coach. This aligns to our						
want to			Comprehensive Needs Assessment in the area						
mess up			of Academics: Literacy.						
formula									
	In-person and virtual			Dinner in September	8	40	\$320.00	1	
	event								
				Dinner in October	8	40	\$320.00	1	
				Dinner in November	8	40	\$320.00	ı	
				Kid Home Craft (Sept and	5	20	\$100.00		
				Nov) "Childcare"					
				Childcare (October)	11.75	2	\$23.50		
							\$0.00	ı	
							\$0.00		
							\$0.00		
							\$0.00		
10	National Night Out	Δυσ-22	Fostering relationships with families and the	Learning materials	2	50	\$100.00	\$100.00	\$7,499.82
10	rvational reight Out	rtug-22	community is an important part of	Learning materials	2	50	\$100.00	\$100.00	\$7,477.02
			supporting students academically. Teachers						
			share resources with families to continue						
							\$0.00		
							\$0.00		
			 				\$0.00		
							\$0.00		
			ļ						
							\$0.00		
							\$0.00		
							\$0.00		
	-						\$0.00		
							\$0.00		
11							\$0.00	\$0.00	\$7,499.82
- 11							\$0.00	55.00	T., 177.02
							\$0.00		
							\$0.00		
							\$0.00		
							\$0.00		
							\$0.00		
							\$0.00		
							\$0.00		
							\$0.00		
12							\$0.00	\$0.00	\$7,499.82
							\$0.00		
							\$0.00		
							\$0.00		
							\$0.00	$\overline{}$	
							\$0.00		
							\$0.00		
		<u> </u>	<u> </u>				\$0.00	7	
	-						\$0.00		
							\$0.00		
13							\$0.00	\$0.00	\$7,499.82
							\$0.00	50.00	1.,.//.02
							\$0.00		
							\$0.00		
		<u> </u>					\$0.00		
							\$0.00		
							\$0.00		
							\$0.00		
			 				\$0.00		
							\$0.00		-
								60.00	\$7,400.00
14							\$0.00	\$0.00	\$7,499.82
							\$0.00		
		<u> </u>					\$0.00		
			<u> </u>		·		\$0.00		
	-						\$0.00		
							\$0.00		
							\$0.00		
			 				\$0.00		
							\$0.00		
							\$0.00	I	
15							\$0.00	\$0.00	\$7,499.82
							\$0.00		
							\$0.00		
 							\$0.00		
			ļ				\$0.00	,	
							\$0.00		
							\$0.00		
					·		\$0.00	厂二	
		i	1				\$0.00		